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Iind the fonries series expansion for the wavetorm show below.
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Find the current i in the circuit shown. Use mesh analysis to
solve.
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Refer to the circuit shown below & find the value of R, [or
maximum power transfer.
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Lind the Thevenin's equivalent circuit with respect to terminals
a— b for the circuit shown below :
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Lxplain about instrument transformers,
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Prove deflecting torque is proportional to the power in the \
circuit.
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Derive Maxwell's equation from Gauss law [or electro static
field.
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Draw the circuit diagram of LLI'T relaxation oscillator and

explain the principle of operation.
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Explain the principle of operation of the logic diagram shown
below and write the truth table.
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Define the h-parameters for 4 common emitter transistor andd
give the typical vilues.
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i ‘e using a silicon transistor
The fixed bias circuit shown in [gure using a silicon

SA0kC aw the
with B =100,V _ =6V, R.. =3k, R, =330k€). Draw

i

‘ mg point. Calculate the
d.c. loadline and determine the operating point. Caleuls

stability factor for the circuit,
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The shunt Eenerator each with an armature resistance of [}4.‘_;151
and filed resisianee of 200 run in paralle] and supply a total
load of 4000 A The emf gre respectively 210 v and 220V,
Caleulate the by bar voltage and Output ol each machine.
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A 100 KVA 2 winding transformer has an iron loss of 1 KW
a CLI loss on normal output current of 1.5 KW, Calculate the
KVA loading at which the efficiency is maximum and its
efficiency at

(1) atumty Pf.

(11) 0.8 Pflagging.
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A 200V 3 §4 pole 30 He Y connected induction motor is rated 5 HP

the equivalent circuil parameters are R, =0.45Q X, =0.80Q
=04Q X, =08 B, =—1/30 mho . The stator core loss is

50 W and rotational loss is 150 W, for a slip of 0.04, find

(i) Inputcurrent,

(i) Pf

(1i1) Air gap power,

(1v) Mechanical power

(v) Electromagnetic torque

(vi) Output power

(vilyelficiency
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Fird C/R using block diagram reduction technique.
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A single phase 230V, IKW heater is connected across [ 230V,
30 He supply through an SCR. For firing angle delay of 45" and

90", Caleulate the power absorbed in the heater element.
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Lxplain four quadrant chopper operation \

BYlG TOrm ToSooTs: nvidnom M0 h.p(14.92KW)
i

400V, 6 Gz Seos Snnzmvg o 30 TR

F < o
RIL T R muF |

)il Rt 4 304 M = L LR _,:_:'...;'_;-: ::-Cl.-'
SRR SuE 400V, 1TA, pf=0.2

U Asog Caamg (U mzm wawe CU =xc Setags oV fur
—_— - b — -
(1) €7 s8owr, L, 388, scmasrfars =< pl
o _—— - | 4% =
(1) ADS t=efr= #ohacsll. 25
el A

Draw the circle diagram from no load and short circuit test of a

3B 20 hop( 14.92K W), 400V, 6 pole induction motor from the
following test result

No load: 400V, 1A, pt=0.2
Short ¢ireuit : =100V, 254, pf=0.4

Rotor CLT loss at standstill is half the total CL loss. From the
diagram find

(1) line current. slip. efficiency; pfat full load

L]

(i) Maximum torque
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Write the equivalent circuit of a induction motor and determ¥ine
HS paramelers.
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Derive the em [ equation of synchronous generalor.

orti-w / Section-B

) &
o —_—— = el L TR o i et et = ZEE A~ T .
.J'{tl e [N o TR o WO+ s = -'"IH\-E u—'E_h
% - -

-~ e, _ s — - e e e ol — i —_ " - - ] [ e e
IRIVILZE. Zel T Tand =l Y ...._.-:If._u._.E ol
iy — =g = r—— == y o g e = el i e
ST Gkt e Ry ot SRS B E A Ty [ I T S e a1 _?Tllb -'n-q.-'!"--T'
‘FE\_. T - o . a— — e, o= e —
- 2 ol S A | A A o i o B S S e T G il U [t ol b

—s

[SO00KRVA

A

20000KVA

_'-'. “.U o

B

12000V

W

F
Below figure shows the singleline diagram of a 3¢ system. The
9, reactance of each alternator is based on its own capacity,
Find the short circuit current that will flow into a complete
b short cireunt at F.
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I:xplain restricting and recovery voltage. \
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A SO IR 400 V. 750 rpm svnchronous motor has 1 moment of
inertia of 20 kgm and employs rheostatic braking for obtaining
rapid stopping in cases of emergency. When the motor is
running at (il load. star connected braking resistor of 2 ohms
per phase is switched in. determine the time taken and the
number of revolutions made before the motor is stopped.
Assume the efficiency of 90% and a full load power factor of
.55
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With salient features of traction motors, explain mechanism Ul)l
train movement and estimation of power and energy
requirements and motor rating characterstics.
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A square law device has input and output refation 1s given by
I, AL AL 1o this device. Sum of message signal '
X(t)=0.3¢c0s 2501 + 0.4 cos 2nl S0t and carrier signal
[requency of 5 KHz. The output signal is then subjected 1o band
pass fillering. What should be center frequency and band width

of this band pass filter it the output of the filer is to be an
amplitude modulated signal” l
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Determine the noise equivalent hand width of RC low pass
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In a flexible waveauide. there are chances of reflection and
losses of signal due to the vertible disc. How the problem is

avercome’
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M-array QAN out perform Mearray PSK (for M = 4). Why LIJ
we still use QPSK in some of the digital micro wave radio

svstem’”



